Parts List ..x

B SN L
A ————— S— ¥ ¥ &
Model: BC230ML K=Y RRa—F 523454
BC230MG

Q = ULEAETR

MARUYAMA MFG. CO.,INC. 2012. 07.



HaTRODITHERIZDINT

1.

o 0 & 0N

MDD TEXDIEIE

wiEs (BX) - BARES - BBHREW - MEZTHEZEL,

INTEATIAS (X RI R DR TR E SRS,

MamlEwnd THRILFIESR ] Z23HERATIZEL,
AERRIFEBLEZLDEHYFET .
ABRREIBBEDAFELEERTLIENAHYET,

Fig. DFRRIZTDNT

ASARM—=UIZ Fig. XXSRBERRLTHYFET, <D XX [FAFAM—=D
ELORBLEZSERLFET .

=P s
BC230ML

L U S 1~2
BC230MG

A N 7. NS 3~ 4
BC230ML, BC230MG TV

KN M2 Ly SUV) B2 S B O |V 5~38
VY e B 100 e B 9 ~ 10
5 F¥TLA, ITVU—F. Ta—TIAUY e 11~ 12

BC230ML, BC230MG
B. AT BAR oot 13~ 14






1. BC230ML
x &



A:BC230ML, B:BC230MG

BHES | HRES %8 & W . s B =
1-1 363972 | BC230ML 1
1-2 227825 | TUNTYY 1
1-3 227925 | K IYUNAHUIMA 1
1-4 211736 | Kv44=%")B 1
1-5 211737 | N'UN 2
1-6 054691 | YUhTH 9347 1 77494
1-7 089738 | 6 h7i Ibk (+ 77 EYh) 1 M5x15
1-8 232880 | AOYMLLN — 1
1-9 219394 | AOYMLI{¥ 1 365L 1/0 68
1-10 | 213548 | ANy —pFa1-7" 1 3t 10 200L
1-11 228077 | ¥ ¥h—-A9347 1 12 ~ 18 744
1-12 | 234247 |6 HH& Wb 1 M8X8
1-13 | 092550 | 6 A& Wb (+)SW 1 M5x25-7T
1-14 | 212986 | NE/K'A A 1
1-15 | 219195 | AE/KA B 1
1-16 | 215610 | 6 A& Lk WSW 1 M8x22 t4')
1-17 | 222128 | 34¥9+K9ony 1
1-18 | 222129 |4YE'v%y’ 1 5x20
1-19 | 089737 | 6 AUk ILb (+ 77°EYH) 1 M5x12
1-20 | 220549 | F194v-4 1
1-21 233851 | 2—L7°L—F 1 BC230ML
1-22 | 231654 | NJT—Y) 1 ECO
1-23 | 225317 | nNJI=% 1 I AE—}
1-24 | 220533 | h4hrN ok 9347 1
1-25 | 222059 | & 9YUN—7"nIN V34T 1 26,27 791
1-26 | 126993 | 6 HYFWb 4 M5
1-27 | 222142 | ¥~ 229 (+)W 4 M5x28
1-28 | 222821 | ¥ 3AYAVAN—H34T 1 29.30 744
1-29 | 212994 | AN =V r950+h" 1
1-30 | 092577 | 6 HY& Wk (+)SW 2 M5x25
1-31 224624 | ¥Y7°)— 9 BIG-M 1




2. BC230MG
% NIZ




A:BC230ML, B:BC230MG

BHES | HRES w8 & s ' B =

2-1 364004 | BC230MG 1
2-2 227825 | TUNIYVY 1
2-3 227925 | K IYUNAHUIMA 1
2-4 211736 | ®v494=%") B 1
2-5 211737 | NUN 2
2-6 054691 | VYN 9347 1 | 7794
2-7 089738 | 6 hYi ILk (+ 77 EYH) 1 | M5x15
2-8 232880 | AOYMLLN — 1
2-9 219394 | AAYMLI¥ 1 | 365L1/0 68
2-10 | 213548 | a5 —+F1-7" 1 | 3K 10 200L
2-11 211735 | KY44=%"1) A 1

-12 | 211737 | nN'UN 2

—-13 | 228077 | ¥ ¥Y5—AY934T 1 |14~ 20794
2-14 | 234247 | 6 ho# ILb 1 | M8X8
2-15 | 092550 |6 h49#K L+ (H)SW 1 | M5x25-7T
2-16 | 212986 | NEJF'RA 1
2-17 | 219195 | AE/H'A B 1
2-18 | 215610 | 6 h9&K Lk WSW 1 | M8x22 4™
2-19 | 222128 | ¥£YFK YNy 1
2-20 | 222129 | 49E'vay 1 | 5x20
2-21 089737 | 6 Ky Lk (+ 77 EYH) 1 | M5x12
2-22 | 220549 |F19(v-H 1
2-23 | 233943 | #=L7°L—} 1 | BC230MG
2-24 | 231654 | \)v—=4H 1 |ECO
2-25 | 225317 | n\)v=49 1 | Y Y9R4—}
2-26 | 220533 | hahhrnNUN934T 1
2-27 | 222821 | A9rVhN-934T 1 12829 794
2-28 | 212994 | AN=Vr95hTY” 1
2-29 | 092577 |6 h9&K Lk (H)SW 2 | M5x25
2-30 | 224624 |F97)— 9 BIG-M 1




3. BC230ML, BC230MG I >y
DS —R, DYUE . aAdI)L

rEArsaress
“w 3 | >




A:BC230ML, B:BC230MG

BHES | HRES w8 & W A@ﬁ ' B =
3-1 859074 | IVY'Y 1 1 | CE230/55
3-2 286309 | ¥!Jv43v77)—F 1 1
3-3 286074 | ' AHYh 1 1
3-4 261250 | 6 BT +HYFHR Wb WSW 4 4 | M5x20
3-5 265802 | {Uv1lL—4 1 1
3-6 267049 | B ANYR 1 1
3-7 265924 | 2411 2 2 | M5x0.8x25
3-8 287642 | ¥757+tV7"Y 1 1
3-9 287645 | I ANYb 1 1
3-10 | 266607 | 249Y1 2 2 | M5x45
3-11 288610 | b7 hn'— 1 1 |32'1A

-12 | 269828 | FAIRY ()W 1 1 | M5x16W(11.6x1)
-13 | 269827 | FA 1%y (+)WSW 1 1

3-14 | 289246 | 4509k —-A 1 1

3-15 | 280488 | A 7YYy 2 2 | PPL 6001
3-16 | 261492 | A4Ly—I 1 1

3-17 | 261386 |A4ILY—I 1 1

3-18 | 055185 | C h'4rAT 1 1 | 7FH37 28
3-19 | 261612 |6 h97FYFHK L WSW 3 3 | M5x30

3-20 | 268032 | E'Aby 1 1

3-21 282177 | E'AMIN Y 2 2

3-22 | 261036 | E'ArUEY 1 1

3-23 | 263957 | Z—FMILATYVY 1 1

3-24 | 261576 | #=49yvy7’ 2 2

3-25 | 268187 | 9709Y%72b3077)—F 1 1

3-26 | 284786 | 439F7tY7Y 1 1 127 ~29754
3-27 | 284702 | H439FFK A 1 1

3-28 | 284787 | H39Fva 2 2

3-29 | 286554 | A7y 2 2

3-30 | 284706 | A7YuY 1 1

3-31 284704 | 7YY 1 1 | 5.1x14x1.2
3-32 | 285220 | A49Y1 1 1 | M5x10

3-33 | 288006 |77vAN-TtU7C 1 1 |34~ 36794
3-34 | 287648 | 77 AN — 1 1

3-35 | 280314 | #39YFN L3077 —b 1 1

3-36 | 014210 | C h'4rAT 1 1 |S10

3-37 | 269831 | FA3%Y (+)WSW 4 4 | M5x20WSW
3-38 | 282215 | 4Yy7° 1 1

3-39 | 281169 | 24Y1 1 1

3-40 | 288660 | v/ &h7tY7Y 1 1 |41 ~ 49 794
3-41 287900 | A—4% 1 1

3-42 | 288197 |49 =9yAvA4NTEUTY) 1 1 |43 ~ 49 744
3-43 | 281706 |3IflL. \ 1 1

3-44 | 283732 |31-F7ty7Y 1 1 |45 ~ 47 794
3-45 | 283733 |1-F 1 1




3. BC230ML, BC230MG I >y
DS —R, DYUE ., aAdI)L




A:BC230ML, B:BC230MG

BHES | HRES w8 & A‘m ' B =
3-46 | 261075 | 7Y% 1 1

3-47 | 261074 | 7°59°%¥v7° 1 1

3-48 | 261072 | ¥yv7 1 1

3-49 | 280080 | F1-7 1 1

3-50 | 261076 | AUFY%— 1 1

3-51 284703 | ¥ 7h 1 1

3-52 | 280381 | AA—# 2 2

3-53 | 261256 |6 HYT7FYFH I WSW 2 2 | M4x25
3-54 | 286739 | AN=4973Y 1 1 | CJ6Y
3-55 | 263804 |-} 1 1

3-56 | 282880 |-} 1 1

3-57 | 280670 | 4'OAYh 1 1

3-58 | 264588 |H7v7° 1 1

3-59 | 269705 | AN 1 1

3-60 | 269824 | FA) 1 1




4.BC230ML, BC230MG I >V

JaqJ)LRA—A




A:BC230ML, B:BC230MG

hvd =] = kv = N

nl-‘nng"? |:||-S AR % ﬂ- A B ﬁ% %
288879 | YMUN R4—4T17) 1 1

282096 | RA9Y1 \ 3 3 | M4x16

288535 | A4—47-)7tv7") 1 1

288529 | 7H75- 1 1

265726 | 6 BT HYFHR P WSW 4 4 | M4x16

283580 | A7) 2 2 | M4x14

288885 | A 1 1 | BC230M

-10 -




F¥ILAE, TT7V)—F. Ta—TILEVY

5. BC230ML, BC230MG T >V

-11 -



A:BC230ML, B:BC230MG

BHES | HRES w8 & A@ﬁ ' B =
5-1 287865 | ¥¥7°L4TtU7Y) 1 1 [2~15794
5-2 263739 | KV TA 1 1
5-3 262991 | N—=VK T4 1 1
5-4 262992 | kU7 hin— 1 1
5-5 261874 | 7'94% 1 1
5-6 283905 | 4°4¥77L 1 1
5-7 262993 | B ANYE 1 1
5-8 262994 | °4¥77L4 1 1
5-9 282576 | ' AkYb 1 1
5-10 | 288187 | ¥ IYh 1 1
5-11 261871 | O Yuy 1 1
5-12 | 261876 |Yv7 1 1
5-13 | 261658 | A4A')L 1 1
5-14 | 264682 | 249Y1 2 2
5-15 | 262996 | 24Y1 4 4
5-16 | 288141 | h'A4wb 1 1
5-17 | 289048 | 4—A7+tV7) 1 1 |18 ~ 24 744
5-18 | 269050 | 7—ZFK 74 1 1
5-19 | 289019 | A7 1 1
5-20 | 284803 |Ln'— 1 1
5-21 284816 | 7YYy 1 1 |6.4x11x0.15
5-22 | 269032 | 249Y1 1 1
5-23 | 126993 |6 YTk 1 1 | M5
5-24 | 269051 | &Al-7' 2 2
5-25 | 281777 | +A" 2%y (+)WSW 2 2 | M5x55WSW-7T
5-26 | 269030 | ILAUH 1 1
5-27 | 281670 | H—Fhn— 1 1
5-28 | 269031 | 24Y1 1 1 | M5x12
5-29 | 280020 | A{ALYVY 1 1
5-30 | 287866 | 4v47tU7) 1 1 |31~ 41744
5-31 287646 | 71—-I)L4vh 1 1
5-32 | 281565 | 4v9%¥v7°7tY7"Y 1 1 33744
5-33 | 269377 | YRy 1 1
5-34 | 261696 | 7°1)—%'434F 1 1
5-35 | 265752 | #Y)AYNATTEYTY 1 1 |36~ 41744
5-36 | 264031 | NA7H34F 1 1 |37 ~39754
5-37 | 261115 | ¥'OA9p 1 1
5-38 | 261690 | #YIAUN47 1 1 |160L
5-39 | 263038 | A—n'7A-N1(7 1 1
5-40 | 264653 | 74LATtY7Y 1 1
5-41 261117 | 997’ 1 1
5-42 | 288306 | NA7 1 1 | 5x8x10L
5-43 | 269828 | FtA1%Y (+)W 2 2 | M5x16W(11.6x1)
5-44 | 281208 | tA2%Y (+)W 1 1 | M5x16W A% (116)
5-45 | 281596 | 3AJl 1 1 |F3-)

-12 -




6. BC230ML, BC230MG
/&

-13 -



A:BC230ML, B:BC230MG

HaEs

B M &

Sk

>

o

i’ &=

221460
220534
210418
219431
022865

233411

HI AN %
hnhinv—
IVE R YIRANT
6 DYRIANT
AT FANT

MTIR4EY AT

— )t ) —) —)

[ G G Y G —y

ZAUNN 3
8x10

BC230M ih

-14 -




22 LU EThH
BHERERED
Ay FE—- bt s2—: EE 0120-898-114
ZFIFIEHRY: AN9:00~PN5:00(+. B.#1H %% <)

Printed in japan 2012-07.J

EHENEETY



